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General Instructions :

(i)
(ii)
(iii)
(iv)
(v)

(vi)

(vii)

All questions in both the sections are compulsory.
Marks for questions are indicated against each.

Questions No. 1-§ and 17 ~21 are very short-answer questions
carrying 1 mark each. They are required to be answered in one
sentence each.

Questions No. 6-10 and 22-26 are short-answer questions
carrying 8 marks each. Answers to them should normally not exceed

60 words each.

Questions No. 11 -13 and 27 -29 are also short-answer questions
carrying 4 marks each. Answers to them should normally not exceed
70 words each.

Questions No. 14-16 and 30-32 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

Answers should be brief and to the poirit and the above word limits
should be adhered to as far as possible.

qmr=r [T

(1)
(ii)
(iii)
(iv)
(v)

(vi)

(vii)
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SECTION A

gug A |
1. Define microeconomics.
fg-arfyme @ g @S |
2. What is market equilibrium ?
AR g § ¥ aifmg @ 2
3. Define market demand. ' 1
- TER HT N forw R |
4. Give meaning of “Change in quantity supplied”. 1
“gff aen § wRada’ @ g SaRT |
8. Define ‘Revenue’. 1
e’ & wRaw e |
6. Explain how a production possibility curve is affected when resources
are inefficiently employed in an economy. 3
g srfererar ¥ WO o@r @ FE A W V@ & O IWGT IWEd a% W T
f'\

TE Ugdl @ ? HHIRT |

7. A consumer buys 17 units of a good at a price of ¥ 10 per unit. When
price falls to ¥ 8 per unit the consumer buys 23 units. Using the
expenditure approach, what will you say about price elasticity of
demand of the good ? 3

T ST T AR # T 10 S T e R 17 s whew @ | 9w
fR & T 8 9 oo @ WA & A 7@ 23 T whew & | = AR ¥ amw
W Y a%g H AT F Fwa @9 F aR A F@ oHEA ?
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8. Giving examples, distinguish between fixed cost and variable ¢

I 2 T Re) A SR e ar ¥ Y R AR |

9. Draw Total Revenue Curve and Marginal Revenue Curve of a firm
which is free to sell any quantity of the good at a given price. Explain.

w5 § R FHg W g # Fe o g 9w ¥ fau @y ? ) s 3
Wfta o o Wwia wwf o difee | TR |

Note : The following question is for the Blind Candldates only, in lieu of
Q. No. 9.

e : ﬁwf‘aﬁaam%éaqﬁzhvﬁmﬁﬁ%mmmg%mw?/ -

Explain the relation between Total Revenue and Marginal Revenue of
a firm which is free to sell any quantity it likes at a given price. 3

W WG R Amd W oAy W el o wm S % fAw @ 1 W A g
T 3k duig dwifid & 99 gE 9uEEe |

10. Explain the implication of the feature ‘freedom of entry and exit to

firms’ under perfect competition. 3
OR

Explain the implication of the feature ‘large number of sellers’ under

perfect competition. : 3

uof sfedfiar & swrfa mﬁfﬁme’ﬁtﬁmaﬁm & fasivar @ gfom
TIARY |

g
T s & ofrla ‘Tasharell & 9t e & favwa & oRomm wEERT |

11. Derive the inverse relation between price of a good and its demand
from the single commodity equilibrium condition
‘Marginal utility = Price’. . 4

E IR e YW €W SR = mﬁa@aﬁmaﬁxmﬁm%
¥ fawla vy W R |
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13.

12,

14.

Explain how a fall in prices of the related goods affects the dem
for the given good. Give example.

mﬁﬁﬁmmaﬁﬁaﬁaﬁaﬁﬁﬁmwwm%?
W@aﬁimﬁﬁql

What is a supply schedule ? Explain how does change in technology of
producing a good affect the supply of that good.

OR

Define supply curve. How does fall in price' of an input affect the
supply of the good using that input ? 4
I fe = @ 2 ﬁu’rﬁaﬁﬁqﬁaﬁqmmﬁaﬁgaﬁﬁmwmm‘
? ? wHERT |

Aqar

9 @ # wRum T | TE A A owEd R w1 o3E s @ s §ow
@ g # I W R e v € 7 WWenRT |

Giving reason, explain the behaviour of total product under the Law of
Variable Proportions. Use diagram. 6

el St & fEW % Srrid P SR HOSHERR HROT 4 T WHRC |
afas & w&@m RN |

Note : The following question is for the Blind Candidates only, in lieu of
Q. No. 14.
e : ffafad 57 dac giegia afandat & o 397 & 14 & @7 W E |

Giving reason, explain the behaviour of total product under the law of

variable proportions. Use a schedule. 6

Tadl st & W ¥ orld A 3G H FTAER FROT W g FEIRT |
SR F WA HC |
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15.

Explain the conditions of consumer’s equilibrium with the
indifference curve analysis.

A T fATEer & TEEA ¥ SN GgeH @ I GIERT |

16. Market for a good is in equilibrium. Supply of the good ‘decreases’.
Explain the chain of effects of this change. Use diagram.
’ OR
Distinguish between ‘cooperative’ .and ‘non-cooperative’ oligopoly.
Explain the following features of oligopoly : , ' 6
@) Barriers to the entry of firms
(ii) Non-price competition . N\
T o W ISR G F 2 1 ag @ g F el o @ 1 39 wRadw & s
TgH g A & Een GEeRY | @fed & YE HiNg |
RYAT
‘geart sk h-wedrt safveR ¥ @9 SRR WORT | sRAfuER @ FReferad
flvad wwERT
() v % wEw T
(i) -Fma s
Note :  The following question is for the Blind Candidates only, in lieu of ™
Q. No. 16.

e : Fferae 597 @ac e qOEiat & 7T 397 & 16 F @7 W 8
Market for a good is in equilibrium. Supply of the good ‘decreases’.
Explain the chain of effects of this change. Use numerical example. 6
@a@wmé@qﬁélaﬁaﬁﬁﬁ‘m’mélmqﬁaﬁ%w
T A TWEl F JEel SRR | ST ST T |
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SECTION B
s §

17. Define ‘capital goods’.
Teira aegell’ & aRmr ST |

18. Define ‘real’ gross domestic product.

‘Frafod THA W IR H R T |

—~ 19. Define Legal Reserve Ratio. » 1
dy R ffy arqua & ufwwr i
20. What are demand deposits ? 1
Hn SRl ¥ w7 efmmg @ 2
21. What is balance of payments ? 1

T Gge ¥ 7 Ifme @ 2

22. What are the components of the current account of the balance of
payments account ? : 3

TAF §qed @ & 91 (FR) @ & 9% qasq |

23. Explain how °‘externalities’ are a limitation of taking gross domestic

product as an index of welfare. _ 3

W%mm‘a@m’wﬁqwﬁwwtﬁmmﬁﬁ@
d R
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24.

25.

26.

27.

An economy is in equilibrium. Its consumption function is
C = 300 + 0-8 Y where C is consumption expenditure and Y is 1
and investment is ¥ 700. Find national income.

T sl Uqe # 8 | gWEr ST %em C = 300 + 0-8 Y & frwd C 3w
=g ik Yamra @ oK 9w T 700 ? | UP o @ ST |

Explain with the help of examples, the distinction between direct tax

and indirect tax. . 3

mﬁﬁm@mmaﬂtmmﬁwml

ﬂ
When price of a foreign currency rises its supply also rises. Explain,
why. 3
OR |
When price of a foreign currency falls its demand rises. Explain, why. 3
W et g # P A O 2 @ W I of 9 ST @ 1wy,
i |
Aqar
Vo faeelt g3 # Fa W @ R @ o A AU 9 It § | wHEwE, oW
i |
‘-\
Explain the ‘economic stability’ objective of a government budget. 4
OR \
Explain the ‘allocation of resources’ objective of a government budget. 4

TEh s F1 s fgwEr 3?vy 9uIREy |

Hganr

WER TS H HOEEl F @Y 3I2YT GHIRT |
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28. From the following data about a government budget find (a) reve
deficit, (b) fiscal deficit and (c¢) primary deficit :

X arabd)
1) Plan capital expenditu?e 120
(ii)) Revenue éxpen‘diture 100
(iii) Non-plan capital expenditure - 80
(iv) Revenue receipts 70
(v)  Capital receipts net of borrowing 140
(vi) . Interest payments 30

Tl o & aR A frafafad stfsel @ (%) IS e, (@)mﬂhmaﬁx
(ﬂ)mwaﬁaﬂm

@ oA et =4 (?123(7)13 )
(i) TSE =4 100
(i) R-GeArE i == 80
iv) &&= mrtavxr | 70
(v) 3uR BigH YSa wftaar | 140
(vi) =¥ YA | 30

29. Giving reasons, explain the treatment assigned to the following while
estimating national income : 4

@ Payment of income tax by a firm

(i1) Festival» gift to employees

wm@m@ﬁmmmwmwm@a%ww
ZaRR AT ST @

() T 3 ER W P
(i) wH=IEl & EER | IRR
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30.

31..

Explain the role of the following in correcting deficient dem
economy :

(1) Government expenditure
(i1) Legal reserve
OR
Explain the role of the following in correcting inflationary gap in an
economy : 6
1) Open market operations
(i) Government expenditure
TS rferewar § e Wi @ wA ¥ frefafaa @ qfier quemsy
1)  wEd =¥
(i) dy ok fafy | P
FHqan
T ol § TR oftk QU &1 § Frfefaa & i §resy
(i) G aER IR
(i) &l =g
How do commercial banks create credit ? : ’ : 6

EdyE Y5 g@ At 3 F@ 8 ?

32. Calculate National Income and Personal Disposable Income from the
following : 6
(X crore)
1) Personal tax 150
(i)  Net imports (-) 10 -~
(iii) Private final consumption expenditure 700
(iv) Private income 600
(v)  Undistributed profit . 20
- (vi) Net domestic capital formation ' 120
(vil) Government final consumption expenditure 200
- (viii) Net factor income to abroad )5
(ix) Corporation tax 100
(x) Net indirect tax 105
58/2/1 10 )
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frfafaa ¥ T 319 ol dufes wsa o WRefaa st -
R Fg)

() s W - | 150
(i) fraa smm | (-) 10
Gii) frel offim swim = | 700
(iv) fsft o= 600
(v) Hfoaf@ oy o 20
(vi) e vt gt Fmfor 120
(vii) Tl sifqw Iw = | 200
(viii) faeul i fod SR (HEF) (-)5
(ix) foma | 100
x) foa vy W o _ | 105
58/2/1 . 11 - 1,700
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